[2.274]

2418, P=50N, Q=75N, a =25 3= 35° ~ = 65°
known @ R direction = BC (R, = 0), unknown : 74, R
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=5+ 5 - 90°
¢ = 90° - (a+ )

35° + 65° - 90° = 10°
90° - (25°+35°) = 30°

A; R, = ZF, = Ty, sinf + P cosf + @ sing
R, =XF, = -T o cosf + P sinf + @ cos¢

(@) R, =0=-T,,cosf + P sin + @ cos¢
_ 1 . _ 1 . o o
= Tyo = p— (P sinf + @ cos¢) TE [(50 N) sin35° + (75 N) cos30°]
— 1 = =
= 5= (9363 N) = 9508 N N Tio= 951N

(b) R=R, = Tyo sinf + P cosB + @ sing
= (95.08 N)sinl0° + (50 N) cos35° + (75 N) sin30° = 94.97 N
= R, = 950 N
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